










Copyright © 2017 MAT Industries, LLC 6 - ENG

SAFETY FEATURES
• SAVE ALL INSTRUCTIONS

THERMAL RELIEF VALVE
A thermal relief valve is provided to protect the 
pump from overheating if the spray gun is 
closed for an extended length of time or the 
nozzle becomes plugged. However, it is 
intended to be used as a backup system and 
every effort should be made to not permit the 
pump to heat up.

We recommend turning the pressure washer 
off if it will not be used for more than five 
minutes. This saves wear on the unit, reduces 
fuel consumption and extends the life of the 
pump by avoiding heat.

 NOTICE  The pump will overheat and may 
be damaged, or cause damage if allowed to 
circulate more that five minutes.

SAFETY LOCK OFF LATCH
To prevent  accidental discharge of high 
pressure water, the safety latch on the trigger 
should be engaged whenever the pressure 
washer is not in use. (Refer to Operating 
Instructions.)

LOW-OIL SHUTDOWN
The unit is equipped with a low oil sensor. If the 
engine oil level becomes lower than required, 
the pressure washer will automatically shut off.  
(Refer to the engine manual for this feature.)  
This protects your pressure washer engine from 
operating without proper lubrication.

If the pressure washer engine shuts off and the 
oil level is according to specification, check to 
see if the pressure washer is sitting at an angle 
that forces oil to shift.  Place on an even 
surface to correct this. If the engine fails to 
start, the oil level may not be sufficient to 
deactivate low oil level switch.  Be sure the 
engine is completely full of oil.  See engine 
manual.

SPARK ARRESTING MUFFLER
THIS PRODUCT MAY NOT BE EQUIPPED WITH 
A SPARK ARRESTING MUFFLER.  If the product 
will be used around flammable materials, such 
as agricultural crops, forests, brush, grass, or 
other similar items, then an approved spark 
arrester should be installed and is legally 
required in the State of California. The California 
statutes requiring a spark arrester are Sections 
13005(b), 4442 and 4443.  Spark Arresters are 
also required on some U.S. Forest Service land 
and may also be legally required under other 
statutes and ordinances.  For more information, 
contact our Customer Service Department at
1-888-895-4549. 

Maximum Pressure (PSI). . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                      3100
Gallons Per Minute (GPM). . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                        2.8
Maximum Inlet Pressure. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                Up to 90 PSIG
RPM. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                                   3750 RPM
Temperature of Pumped Fluids. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . Up to 80°F
Inlet Ports . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                            3/4” GHT (F)
Discharge Ports. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                                              M22

Your pressure washer has a maintenance-free pump. There is no need to change the pump oil.

SPECIFICATIONS
• SAVE ALL INSTRUCTIONS



Copyright © 2017 MAT Industries, LLC7 - ENG

ASSEMBLY INSTRUCTIONS
• SAVE ALL INSTRUCTIONS

1.	 Place the unit on its back and insert wheel 
axle into front tube.  Use (1) M6 washer and 
(1) M6 x 15mm long hex head screw to 
assemble wheel axle to frame using the 
supplied open-end wrench. Tighten securely.  
Repeat for opposite side.

2.	 Remove (1) M8 washer and (1) M8 nut from 
wheel axle and place wheel onto axle. 	
Be sure the hub on the wheel goes to the 
inside. Re-assemble the washer and nut 
onto axle using the supplied open-end 
wrench. Tighten securely.  Repeat for 
opposite side.

3.	 With the unit still on its back, assemble the 
rubber feet using (1) M8 x 30mm long 
socket head cap screw and (1) M8 nut.  
Using the supplied hex wrench and open-
end wrench, tighten securely. Repeat for 
opposite side.

4.	 Place the unit on its wheels and rubber feet.  
Remove the knobs and screws from the 
handle.  



Copyright © 2017 MAT Industries, LLC 8 - ENG

ASSEMBLY INSTRUCTIONS (continued)
• SAVE ALL INSTRUCTIONS

4.	 Remove the handle and rotate 180 degrees 
and re-insert into the frame. Re-assemble 
both knobs and screws.

5.	 Assemble the lower gun hook using (1) M6 x 
45mm long socket head cap screw, (1) M6 
nut, and the supplied hex wrench and open-
end wrench. Tighten securely.

6.	 Assemble the upper gun hook using (1) M6 x 
45mm long socket head cap screw, (1) M6 
nut, and the supplied hex wrench and open-
end wrench. Tighten securely.

7.	 Assemble the upper hose hanger using (2) 
M6 x 45mm long socket head cap screws, 
(2) M6 nuts, and the supplied hex wrench 
and open-end wrench. Tighten securely.





Copyright © 2017 MAT Industries, LLC 10 - ENG

ENGINE AND PUMP FEATURES - FIGURE 1
• SAVE ALL INSTRUCTIONS

OPERATING CONNECTIONS
• SAVE ALL INSTRUCTIONS

HIGH PRESSURE HOSE
Attach the high pressure hose to the outlet 
connection located on the pump. (See Figure 1).

WATER CONNECTION
Before connecting to unit, run water through 
the garden hose (not supplied) to flush out any 
foreign matter. Check that the screen is clean 
and is in the inlet of the pump. Attach garden 
hose to the inlet connection located on the 
pump. (See Figure 1).

NOTE:  The water supply must provide a 
minimum of 4 GPM at 40 to 80 PSI or the 
pump will be damaged.

FUEL FILL

SIPHON 
INJECTOR

THERMAL 
RELIEF VALVE

OUTLET 
CONNECTION

THROTTLE 
LEVER

INLET 
CONNECTIONAIR FILTER

CHOKE LEVER

FUEL ON/OFF

RECOIL 
STARTER

OIL FILL

OIL DRAIN

ENGINE 
ON/OFF 
SWITCH

FUEL FILTER





Copyright © 2017 MAT Industries, LLC 12 - ENG

CLEANING TECHNIQUES
• SAVE ALL INSTRUCTIONS

When cleaning with the pressure washer, 
many cleaning tasks can be solved with water 
alone, but for most tasks it is advantageous to 
use a detergent also. A detergent ensures a 
quick soaking of the dirt allowing the high 
pressure water to penetrate and remove the 
dirt more effectively.

Pressure washer chemicals are specially for-
mulated to be used with your pressure washer.

APPLICATION OF SOAP OR 
DEGREASER
1.	 Apply the solution to a DRY work surface. 
	 On a vertical surface, apply horizontally 		
	 from side to side starting from the bottom 		
	 to avoid streaking.
	 NOTE: Wetting the surface first is not 		
	 recommended, as it dilutes the 			 
	 detergent and reduces its cleaning 
	 ability. Avoid working on hot surfaces 		
	 or in direct sunlight to minimize the 		
	 chances of the chemical damaging 		
	 painted surfaces. Damage may occur 		
	 to 	painted surface if chemical is 		
	 allowed to dry on the surface. Hold 		
	 nozzle far enough away from surface 		
	 to	 prevent damage to the surface.

2.	 Allow chemical to remain on the surface 		
	 for a short time before rinsing.
3.	 Rinse with clean water under high pressure.  	
	 On a vertical surface, first rinse from the 		
	 bottom up, then rinse from the top down.  		
	 Hold nozzle 6 to 8 inches from the work 
	 surface at a 45° angle using the flat spray 		
	 as a peeling tool rather than a scrub brush.

APPLICATION OF WAX
1.	 Immediately after cleaning, apply pressure 		
	 washer wax. Place injection tube in 			 
	 container of wax.
2.	 Apply the wax sparingly in an even layer.  		
	 Apply to wet surfaces from the bottom up 		
	 for even distribution and to avoid streaking.
3.	 Remove the suction tube from the wax 		
	 bottle and rinse off the surplus wax.

NOTE: IF SURPLUS WAX IS NOT 
REMOVED, A HAZY FINISH MAY RESULT.

4.	 Wipe dry to reduce water spotting.

END OF CLEANING OPERATION
• SAVE ALL INSTRUCTIONS

When you have completed use of the chemical 
injection system, remove tube from container. 
Continue to run in low pressure position and 
inject clean water through the tube and
injection system by placing end of tube in a 
container of clean water. Continue to run until it 
is thoroughly cleaned.





Copyright © 2017 MAT Industries, LLC 14 - ENG

STORAGE
• SAVE ALL INSTRUCTIONS

PUMP STORAGE
If you must store your pressure washer in a 
location where the temperature is below 32°F, 
you can minimize the chance of damage to 
your machine by utilizing the following 
procedure:

1.	 Shut off water supply and relieve pressure 	
	 in the spray gun by depressing the trigger. 	
	 Disconnect the garden hose from the  
	 pressure washer, but leave the high- 
	 pressure hose connected.
2.	 Tip the unit on its side with the inlet 
	 connection pointing up.
3.	 Insert a small funnel (to prevent spilling) 	
	 into the inlet and pour in approximately 1/4 	
	 cup of RV antifreeze.
4.	 Disconnect spark plug wire.
5.	 Without connecting garden hose pull the 	
	 recoil several times to circulate the anti	
	 freeze in the pump system. Continue to 	
	 add antifreeze and pull the recoil until the 	
	 antifreeze is expelled when the trigger is 	
	 pulled.
6.	 Turn the unit upright.

 NOTICE  Prior to restarting, thaw out 
any possible ice from the pressure wash-
er hoses, spray gun and wand.

Another method of reducing risks of freeze dam-
age is to drain your pressure washer as follow:
	
1.	 Stop the pressure washer and detach supply 	
	 hose and high pressure hose. Squeeze 	
	 the trigger of the discharge gun to drain all 	
	 water from the wand and hose. 
2.	 Restart the pressure washer and let it run 	
	 briefly (about 5 seconds) until water no longer 	
	 discharges from the high pressure outlet.

ENGINE STORAGE
When the pressure washer is not being 
operated or is being stored more than one 
month, follow these instructions:

1.	 Replenish engine oil to upper level.
2.	 Drain gasoline from fuel tank, fuel line, fuel 		
	 valve and carburetor.
3.	 Pour about one teaspoon of engine oil 		
	 through the spark plug hole, pull the recoil 		
	 starter several times and replace the plug.  	
	 Then pull the starter slowly until you feel 		
	 increased pressure which indicates the 
	 piston is on its compression stroke and 		
	 leave it in that position. This closes both 		
	 the intake and exhaust valves to prevent 		
	 the inside of the cylinder from rusting.
4.	 Cover the pressure washer and store in a 		
	 clean, dry place that is well ventilated away 	
	 from open flame or sparks.

NOTE:  We recommend always using a 
fuel stabilizer. A fuel stabilizer will 
minimize the formulation of fuel gum 
deposits during storage. The fuel 
stabilizer can be added to the gasoline in 
the fuel tank, or into the gasoline in a 
storage container.





Copyright © 2017 MAT Industries, LLC 16 - ENG

TROUBLESHOOTING GUIDE
• SAVE ALL INSTRUCTIONS

Problem Cause Correction

Engine will not start or 
stops while operating

1. Low-oil shutdown.
2. Engine switch not in the “ON” position.
3. Pressure build up in hose.

1. Fill engine with oil.
2. Turn switch “ON”.
3. Squeeze trigger.

Engine is overloaded 1. Nozzle partially blocked. 1. Clean nozzle.

Water or oil leaking 
from bottom of pump

1. A small amount of leakage is normal. 1. If excessive leaking occurs call the Customer    
Service Department.

Pressure increases 
when gun is closed

1. Bypass valve not operating properly. 1. Call the Customer Service Department.

Engine running but 
pump not building 
maximum pressure or 
has irregular pressure

1. Faucet closed. 
2. Unit has been stored in freezing 

temperatures.
3. Inadequate water supply.
4. Water inlet screen clogged.
5. Kink in garden hose.
6. Wand nozzle worn or damaged.
7. Air in pump.
8. Suction or discharge valves clogged or 

worn out.
9. By-pass valve not operating effectively.

1. Open faucet.
2. Thaw out unit completely including hose, gun 

and wand.
3. Provide a minimum of 4 gpm at 20 psi.
4. Clean screen.
5. Straighten hose.
6. Replace nozzle.
7. Let run with gun open and wand removed 

until steady stream of water is released.
8. Call the Customer Service Department.
9. Call the Customer Service Department.

No intake of chemicals 1. Injection tube not securely inserted into 
unit.

2. Tube cracked or split.
3. Wrong nozzle.
4. Injection tube strainer clogged.
5. Nozzle blocked.
6. Dried chemicals in injector.

1. Push firmly into injector.
2. Replace tubing.
3. Switch to low pressure nozzle.
4. Clean strainer.
5. Clean nozzle.
6. Dissolve by running warm water trough the 

injection tube.

Trigger will not move 1. Gun safety lock engaged. 1. Release safety lock.

Water in crankcase 1. High humidity.
2. Worn seals.

1. Change oil more frequently.
2. Call the Customer Service Department.

Noisy operation 1. Worn bearings
2. Air mixed with water.

1. Call the Customer Service Department.
2. Check inlet lines for restrictions and /or proper 

sizing.

Rough/pulsating 
operation with 
pressure drop

1. Worn packing.
2. Inlet restriction.
3. Unloader.
4. Air mixed in water.

1. Call the Customer Service Department.
2. Check system for stoppage, air leaks.

correctly sized inlet plumbing to pump.
3. Check unloader for proper operation.
4. Check inlet lines for restrictions and/or proper 

sizing.

High crankcase 
temperatures

1. Wrong grade of oil.
2. Improper amount of oil in crankcase.

1. Use recommended oil.
2. Adjust oil level to proper amount.




